Assembly Instructions

BDBIJIMR  MIRROR-GAVIN BROWN STONE
BDBIJDR DRESSER-GAVIN BROWN STONE
BDBIJMRL MIRROR-GAVIN GRAY STONE
BDBIJDRL DRESSER-GAVIN GRAY STONE

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1. We recommend that you assembile this product with the assistance of another person; this will make assembly
easier, and will help to eliminate damage to the product or injury to persons during assembly.

2. Please do not over tighten screws or bolts until the assembly is completed.

3. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly

purchased product correctly and efficiently.

NO. Hardware List QTY
@5/16" * 18*1-1/2"L Allen Bolt 8
: @5/16" *@13mm Spring washer 8
@5/16"@19mm*1.5mm Flat washer 8
\/ Allen wrench (4mm) 1
= | Straight allen key 4mm*80mm L 1

TOOLS REQUIRED ( NOT PROVIDED)

PHILLIPS SCERWDRIVER GCGCi=—

Please noted : Please do not tighten bolts
100% until after assembly is complete.

NO. Parts list QTY
A % Dresser 1
B @ Mirror 1
C / Support Slats 2

Remark: Tipping hardware
attached to the back stretcher.

Assembly completed
MADE IN VIETNAM

Page 1 of 1




Assembly Instructions

BDBIJHBPQ QN PNL HDBD-GAVIN BROWNSTONE
BDBIJHBPK KG PNL HDBD-GAVIN BROWNSTONE
BDBIJHBPQL ON PNL HDBD-GAVIN GRAYSTONE
BDBIJHBPKL KG PNL HDBD-GAVIN GRAYSTONE

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1. We recommend that you assemble this product with the assistance of another person; this will make assembly
easier, and will help to eliminate damage to the product or injury to persons during assembly.

2. Please do not over tighten screws or bolts until the assembly is completed.

3. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly
purchased product correctly and efficiently.

NO. Hardware List QTY NO. Parts list QTY
" % * - n 2
- a5/16" * 18*1-3/4"L Allen Bolt A % Headboard frame 1
@)JD @5/16" *@13mm Spring washer 2
@5/16™@19mm*1.5mm Flat washer 2 B / Headboard left leg 1
l *
% @10mm * 30mmL Wood plug 4 c / Headboard right leg ]
\/ Allen wrench (4mm) 1
= | Straight allen key 4mm*80mm L 1 D / Headboard bottom stretcher| 1
@5/16" * 18*1-3/4"L Allen Bolt 6
2 @))3 @5/16" *@13mm Spring washer 6 Please noted : Please do not tighten bolts
@5/16™@19mm*1.5mm Flat washer 6 100% until after assembly is complete.
TOOLS REQUIRED ( NOT PROVIDED) e “‘\-\_\
,/ A
PHILLIPS SCERWDRIVER C—F— /6L 6\_\ AN

=

~
-

Assembly completed-1
Made in Vietnam

B
N

Page 1 of 3



Assembly Instructions

BDBIJHBPQL QN PNL HDBD-GAVIN GRAYSTONE
BDBIJHBPQ QN PNL HDBD-GAVIN BROWNSTONE
BDBIJFBQUL QN STRG FTBD-GAVIN GRAYSTONE
BDBIJFBQU QN STRG FTBD-GAVIN BROWNSTONE
BDBIJHBPKL KG PNL HDBD-GAVIN GRAYSTONE
BDBIJHBPK KG PNL HDBD-GAVIN BROWNSTONE

BDBIJFBSKL KG STRG FTBD-GAVIN GRAYSTONE
BDBIJFBSK  KG STRG FTBD-GAVIN BROWNSTONE
BDBIJRSQSPL Q/K STRG SIDE RL-GAVIN GRAYSTONE
BDBIJRSQSP Q/K STRG SIDE RL-GAVIN BROWNSTONE
BDBIJRSDQL SIDE STRG DRWRS-GAVIN GRAYSTONE
BDBIJRSDQ  SIDE STRG DRWRS-GAVIN BROWNSTONE

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1. We recommend that you assemble this product with the assistance of another person; this will make assembly
easier, and will help to eliminate damage to the product or injury to persons during assembly.
2. Please do not over tighten screws or bolts until the assembly is completed.

3. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly

purchased product correctly and efficiently.

NO. Hardware List

Q

@5/16" * 18*1-3/4"L Allen Bolt

@5/16" *@13mm Spring washer

@5/16"*@19mm*1.5mm Flat washer

Allen wrench (4mm)

Straight allen key 4mm*80mm L

I &

8 28*@4*1-1/4"L Wood Screw

TOOLS REQUIRED ( NOT PROVIDED)

=

PHILLIPS SCERWDRIVER

TY NO. Parts list Q'TY
2 E & Footboard 1
8 F & Support leg for Footboard 3
i G / Side rails left 1
24 H / Side rails right 1

| @ Drawer for Rails 2

J & Support leg for Rails Drawer| 4

Slats 1

Center rail 1

Support legs for center rail and slat

Assembly completed-2
Made in Vietnam

Page 2 of 3



Assembly Instructions

BDBIJHBPQL QN PNL HDBD-GAVIN GRAYSTONE BDBIJFBSKL KG STRG FTBD-GAVIN GRAYSTONE
BDBIJHBPQ ON PNL HDBD-GAVIN BROWNSTONE  BDBIJFBSK  KG STRG FTBD-GAVIN BROWNSTONE
BDBIJFBQUL QN STRG FTBD-GAVIN GRAYSTONE BDBIJRSQSPL Q/K STRG SIDE RL-GAVIN GRAYSTONE
BDBIJFBQU QN STRG FTBD-GAVIN BROWNSTONE BDBIJRSQSP Q/K STRG SIDE RL-GAVIN BROWNSTONE
BDBIJHBPKL KG PNL HDBD-GAVIN GRAYSTONE BDBIJRSDQL SIDE STRG DRWRS-GAVIN GRAYSTONE
BDBIJHBPK KG PNL HDBD-GAVIN BROWNSTONE  BDBIJRSDQ SIDE STRG @WB%GAVIN BROWNSTONE

( ) Leveler 4pcs
Adjust the levelers
until they are balanced

Leveler 3pcs
Adjust the levelers until they are Assembly completed-3
balanced and touching the floor. Made in Vietham

Page 3 of 3



BDBIJHBPQL QN PNL HDBD-GAVIN GRAYSTONE
BDBIJHBPQ QN PNL HDBD-GAVIN BROWNSTONE BDBIJFBPKL
BDBIJFBSQL QN PNL FTBD-GAVIN GRAYSTONE BDBIJFBPK
BDBIJFBSQ QN PNL FTBD-GAVIN BROWNSTONE
BDBIJHBPKL KG PNL HDBD-GAVIN GRAYSTONE

Assembly Instructions

BDBIJHBPK  KG PNL HDBD-GAVIN BROWNSTONE
KG PNL FTBD-GAVIN GRAYSTONE
KG PNL FTBD-GAVIN BROWNSTONE
BDBIJRSQUL Q/K PNL RAILS-GAVIN GRAYSTONE
BDBIJRSQU  Q/K PNL RAILS-GAVIN BROWNSTONE

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1. We recommend that you assemble this product with the assistance of another person; this will make assembly
easier, and will help to eliminate damage to the product or injury to persons during assembly.

2. Please do not over tighten screws or bolts until the assembly is completed.

3. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly

purchased product correctly and efficiently.

NO. Hardware List QTY NO. Parts list QTY
5 | @me> | @8°04*1-1/4"L Wood Screw 24 E / Footboard ]
F / Side rails left 1
/ Side rails right 1
S & [Slats 1
/ Center rail 2
/ Support legs for center rail and slat 4

Leve_ler_4pcs
Adjust the levelers until they are
balanced and touching the floor.

Assembly completed
Made in Vietnam

Page 2 of 2



Assembly Instructions

CTBIJC CHEST-GAVIN BROWNSTONE
CTBIJCL CHEST-GAVIN GRAYSTONE

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small
parts,which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the HARDWARE LIST below.

Caution: Please read instructions thoroughly before unpacking assembly parts.

1. We recommend that you assemble this product with the assistance of another person; this will make assembly
easier, and will help to eliminate damage to the product or injury to persons during assembly.
2. Please do not over tighten screws or bolts until the assembly is completed.

3. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly
purchased product correctly and efficiently.

NO. Hardware List QTY NO. Parts list Q'TY
Tippi i 1Set
1 Q | ipping restraint € A @ Chest 1

Remark: Tipping hardware
attached to the back stretcher.

1

2
-
% \/

Assembly completed
MADE IN VIETNAM

Page 1 of 1




	Gavin AI-1-Oct-2016
	BIJOU AI-28-Sep-2016-Dresser&Mirror
	BIJOU AI-28-Sep-2016-Q-K bed 1
	BIJOU AI-28-Sep-2016-Q-K bed 2
	BIJOU AI-28-Sep-2016-Q-K bed 3
	BIJOU AI-28-Sep-2016-Q-K panel bed

	Gavin BR AI-4-Oct-2016-Chest

